Arlington Industries, Inc.

| Stauffer nd. Park - Scranton, Pa. 18517
800-233-4717  Fax: 570-562-0646

www.aifittings.com - E-MAIL : sales {@ aifittings.com

Manufacturers of Quality Electrical Products @
FLBC4580: Recessed Floorbox Kit w/

Decorator Style Receptacle & Keystone Holder

with National (NEC/CEC), State FLBC4580MB (BRASS)

All wiring must be in accordance Al Cat# Color
and Local Electrical Codes. FLBC4580NL (NICKEL)

Contents:
(1) Leveling Ring Assembly w/ Carpet Flange, # X 58" LG ¥
Funnel & UL Listed 1 5A Decorator Style Receptacle \‘
(1) Low-Voltage Keystone Holder Insert (Installed) BLANK COVER \ ¥
(1) Blank Insert e
(1) Low Voltage Divider GASKET
(1) Blank Cover w/ Gasket BLANK INSERT

(1) In-Use Cover
(3)#8 x 548" Lg. Flat Head Screw

KEYSTONE
HOLDER

Cord

LEVELING RING
ASSEMBLY

In-Use Cover

LOW VOLTAGE
DIVIDER

ARLINGTON FLBC4502
CONCRETE BOX
(SOLD SEPARATELY)

|
[
[
If you have any questions or if parts are missing from I
your FLBC4580, Please call our Customer Service KEYSTONE INSERT
Department at 1-800-233-4717. Do not call or return REMOVAL I
this product to your local store or distributor. L
by s r‘;‘{\/\ ﬁk N
Installation Instructions: \ <\> (Z )
. N /
1. Use saw to cut installed concrete box (FLBC4500 or FLBC4502 recommended, NG R S

sold separately) to finished floor height after concrete has cured.
2. If low-voltage divider is to be used, cut same amount from the bottom of divider
as was removed from the concrete can.
3. To use Blank Insert, Remove (4) #8 Screws from carpet flange to
disassemble Leveling Ring Assembly. Slide Keystone Holder Insert outward to remove from
Funnel. Install Blank Insert into Funnel and reinstall screws to reassemble Leveling Ring.
4. Wire receptacle. All wiring to be done 1n accordance with applicable National, State & Local Codes.
5. Seal underside of Flange with silicone sealant if desired (not included).
6. After installation of finished flooring, secure leveling ring assembly to installed Concrete Can using PVC cement
7. Option #1: Install Gasket & Blank Cover with (3) supplied #8 x 5/8" long flat head machine screws
Option #2: Install In-Use cover...No screws required. Store Blank Cover with screws and gasket for
future use.




